4< Fill in the missing digits )7

Fill in the mJi_s;ngﬁL%it which makes the expressions behov true.

ind the missing digits, choose the most correct answer from the list

3|5| 6 O s 7 9 a -
+ -
5| 5 O 6 4 9 2 O s
L1301 1 O o 3 8 7 O 10
4 5 2 O sbnas 3 4 8
+ +
8 6 [J sand 10 7 5
1, 4 3 ) g8and 9 1,2 16
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Fill in the missing digits

Fill in the missing digit which makes the expressions below true.

a. 1.8 9 To solve this, let’s think of a number that when added to 9 will make
+ the last digit of the answer be 8
5 2 In this case, 9 + 9 =18 1. '8 9
We write 8 and carry 1 +
7 1 8 Then, we continue with our addition normally 5 2|9
S0, 9 is the missing digit that makes the expression true 7 1 8
b. 5[ |9

To solve this, let’s start subtracting from the ones digit then tens digit
9-2=7

4 8 2 Now, think of a number that 8 should be subtracted from to have O
as answer 5 9
1.0 7 We know that 8 -8 =0 =
4 8 2
So, 8 is the missing digit that makes the expression true
1. 0 7

c. Find the missing digits, choose the most correct answer from the list

35 6

Os 7 9 O -

O e 4 9 2 ljs
@/9 3.8 7 ] 10

[J sands 3 41 [3/8
+

[J sand10 7 5 O

& 8 and 9 1,2 16 o
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